

17

روشنه

$$f(m) = \begin{cases} a + \sqrt{m^2} & ; m \leq 1 \\ b \sqrt[3]{m^2} & ; m > 1 \end{cases}$$

7

Oct.

2024

11:13

رجوع قبلی

2

$$f_-(1) = f_+(1) \quad / \quad f'_-(1) = f'_+(1)$$

$$a + 1 = b$$

↓ *

$$a = \frac{1}{p}$$

$$a + \frac{p}{\sqrt{m^2}} = \frac{b \times p}{\sqrt[3]{m^2}}$$

$$\frac{p}{\sqrt{1}} + 1 = \frac{p b}{\sqrt[3]{1}} \Rightarrow p b = p + 1 \Rightarrow b = \frac{p+1}{p}$$

$$a + b = \frac{1}{p} + \frac{p+1}{p} = \frac{p+2}{p} = 2$$

$$f'(x) = g'(x) = [f(x) - p g(x)]' \quad \text{درای } x = 1 \text{ منتهی است}$$

$$f(m) - p g(m) = \frac{|p m - 1| - p \sqrt{m^2 - 1} - p \sqrt[3]{m^2}}{\sqrt[3]{m^2}} = \frac{-p m + 1 + p m - 1 - p}{\sqrt[3]{m^2}} = \frac{-p}{\sqrt[3]{m^2}}$$

$$\left(\frac{-p \times p}{p \sqrt[3]{m^2}} \times \sqrt[3]{m^2} \right) - \left(\frac{p}{p \sqrt[3]{m^2}} \times -p \sqrt[3]{m^2} \right) = \frac{-p \sqrt[3]{m^2}}{\sqrt[3]{m^2}}$$

$$m=1 \quad \left(\frac{-p \times p}{p \sqrt[3]{1}} \times 1 \right) - \left(\frac{p}{p \sqrt[3]{1}} \times -p \sqrt[3]{1} \right) = \frac{-p}{\sqrt[3]{1}} + \frac{p \sqrt[3]{1}}{\sqrt[3]{1}} = \frac{p \sqrt[3]{1}}{\sqrt[3]{1}}$$

$$f(a) = f_+(a) \quad / \quad f'_-(a) = f'_+(a) \quad (p)$$

↓

↓

$$b a + c = \frac{1}{a}$$

$$b = \frac{-1}{a^2} \Rightarrow b a^2 = -1 \Rightarrow b a = -\frac{1}{a} *$$

↓

$$-\frac{1}{a} + c = \frac{1}{a} \Rightarrow c = \frac{2}{a} **$$

$$a \times c \xrightarrow{**} \frac{2}{a} \times a = 2$$

$$\lim_{n \rightarrow a^+} f(n) = \lim_{n \rightarrow a^-} f(n) = fa \Rightarrow a=b$$

$$f'(n) = \begin{cases} 0 & n < a \\ (n-a)^{n-1} & n \geq a \end{cases}$$

$$\begin{aligned} n=0 & \rightarrow f'(n) = x \\ n=1 & \rightarrow f'(n) = 0 \\ n > 0 & \rightarrow f'(n) = x \\ f'(a) & = x \\ f(a) & = 0 \end{aligned}$$

IV

8 Oct 2024
11:13

$$g'(n)f'(g(n)) = (f \circ g)'$$

$$f \circ g = \sqrt[n^2 - |n^2| - |n^2| - |n^2|}$$

$$y=0 \Rightarrow f'(y) = -a / f(y) = -a - a$$

$$-a + a + a = y \Rightarrow ya = -y \rightarrow a = -\frac{y}{y}$$

$$\frac{f(y)}{f'(y)} = \frac{-ya - a}{-a} = \frac{-y(-\frac{y}{y}) - a}{\frac{y}{y}} = \frac{-\frac{1}{y}}{\frac{y}{y}} = \boxed{-\frac{1}{y}}$$

$$f \circ g'(\frac{y}{\sqrt{n}}) = g'(\frac{y}{\sqrt{n}}) \times f'(g(\frac{y}{\sqrt{n}}))$$

$$g(\frac{y}{\sqrt{n}}) = y \quad \frac{-ym}{(y\sqrt{n^2-1})^2} = -1\sqrt{y}$$

$$[n^2 + \frac{1}{2}] \xrightarrow{n=y} f(n) = 1 + n^2$$

$$f \circ g'(\frac{y}{\sqrt{n}}) = \frac{-a/2\sqrt{y}}{-1\sqrt{y}}$$

18 مبارك $f'(-1) = f'(1) = 10$

1

9 Oct. 2024
1226 ربيع الثاني 5

$$g'(m) = f'(m+1) + 3f'(3m+1)$$

$$g'(-1) = f'(-1) + 3f'(1) = 4f'(-1) = 40$$

$$\lim_{h \rightarrow 0} \frac{(f(a-h))^2 - 3f(a-h) + 2}{ah - h^2} \stackrel{\text{Hop}}{=} \frac{2(-f'(a-h))f(a-h) + 3f'(a-h)}{a - 2h}$$

9

$$= \frac{-2f'(a)f(a) + 3f'(a)}{a} = \frac{f'(a)}{a} = \frac{-\frac{a}{12}}{12}$$

$$f(a) = 2$$

$$f'(a) = 2 + \frac{1}{12} = \frac{25}{12}$$

$$f'(m) = \frac{1}{\sqrt[3]{(m+2)^2}}$$

خط معادله برعكس $\Rightarrow y = 1 + 3m \xrightarrow{\div 3} y = \frac{m}{3} + \frac{1}{3} \xrightarrow{\text{مشتق}} \frac{1}{3}$

10

مشتق = 0

$$\frac{3m+1}{3} = m^2 - 3m + 5 \Rightarrow m^2 - \frac{10m}{3} + \frac{14}{3} = 0$$

$$\Delta = \frac{+ \frac{100}{9} \pm 1/9}{2} = \frac{1}{2} \quad 1/9$$

عوض $\rightarrow$ قرينه = سيب

$$\Rightarrow m = 2$$

$$m = 1 \quad y = 2$$